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HHR2IZH(ELS) 101,867 100, 441 1,426
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02 g2l 20,460 19,260 1,200
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2 6,200 6,200 0

=oitsgdc X2 2,230 2,250 A 20

Al 2,230 2,250 A 20

206 24l 2,007 2,025 A18

Al 2,007 2,025 A18

01 24| 2,007 2,025 A18
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OF0isgdc g8 Xy AF 223,0002 223 225 A2
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OANZe2sg 26,002 25,077 925
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o 272,558 274,813 ~2,255
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Al 4,770 2,290 2,480
- 147,075 149,575 A2,500
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Al 2,500 0 2,500
- 123,000 125,500 A2,500
Foxxs T2l 29 23,000 23,000 0
Al 2,500 0 2,500
- 20,500 23,000 A2,500
IEEEEE 3,500 13,500 0
Al 2,500 0 2,500
- 1,000 13,500 A2,500
ERIEEIE 13,500 3,500 0
FOINAE 2Y BMEY
A 13,500,0008 3,500 3,500 0
Al 2,500 0 2,500
- 1,000 3,500 A2,500
MRG0 eHEe SU 2SIl 9,270 9,290 A20
Al 2,270 2,290 A20
- 7,000 7,000 0
FoxsYAS X2 2,270 2,290 A20
Al 2,270 2,290 A 20
206 T Z 2,043 2,061 A18
Al 2,043 2,061 A8
01 HE bl 2,043 2,061 A18
Owet W2l 2T 2,043,0008 2,043 2,061 A8
Al 2,043 2,061 A18
302 01 FLTHAHE & 3 227 229 A2
Al 227 229 A2
e HLETES NS 227 229 A2
OFoIftseec S22 2F 227,008 227 229 A2
Al 227 229 A2
HY2ABL(YF1S) 125,483 125,238 245
JEEE T 76,103 75,858 245
SN2y A2y 76,103 75,858 245
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o1 24 55,643 56,238 595
ONAe2R4+E 38,843 39,438 A595
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chelr F=0IXXE 29 EERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
IF2S 350,437 347,862 2,575
Al 4,770 2,290 2,480
- 345,667 345,572 95
FOXR g ZeH(E=28) 191,654 191,674 A 20
Al 4,770 2,290 2,480
- 186,884 189,384 A 2,500
FUXXE 2 165,002 165,002 0
Al 2,500 0 2,500
- 152,502 155,002 A 2,500
FOXXg Z20H 249 26,000 26,000 0
Al 2,500 0 2,500
- 23,500 26,000 A 2,500
301 LeEAF 18,500 18,500 0
Al 2,500 0 2,500
T 16,000 18,500 A2,500
12 IIEtE 4= 18,500 18,500 0
FUXX2 2 AM=E
Z & 16,500,000 16,500 16,500 0
Al 2,500 0 2,500
- 14,000 16,500 A 2,500
JhRSt etME SUl 2SI 9,470 9,490 A 20
Al 2,270 2,290 A 20
- 7,200 7,200 0
FoUXNSYAHI R 2,270 2,290 A 20
Al 2,270 2,290 A 20
206 M= Hl 2,043 2,061 A18
Al 2,043 2,061 A18
01 MHZ 8l 2,043 2,061 A18
OogdgasE = 28 2,043,000& 2,043 2,061 A18
Al 2,043 2,061 A18
02 OI=2L o2& = 227 229 A2
Al 227 229 A2
02 AT I S SEH = 227 229 A2
OFeisgdt a2 FF 227,000 227 229 A2
Al 227 229 A2
HY2FEH(ZF28) 158,783 156, 188 2,595
el 2l 100,727 98,132 2,595
FASE A= 29H 100,727 98,132 2,595
101 1Al 74,327 73,292 1,035
01 2= 74,327 73,292 1,035
OAtZex% 52,487 51,452 1,035
S=] ZE 12,3213 «3 #34Al 2t+123 15,081 9,894 5,187
S ZE 11,1302 «3H +34Al 2t<123 13,624 17,874 A 4,250




2N
X ZH -
L= B

el

N

=
=]

re 02 o2
J® 0

H0 Mo

02 02

=l

ZH(FF23)

SN FH-SA(EN) - MBAY - BES 0l &F 24 p/E-E" HlnE2

o8= B 9,9923 x4H «34A| 2t 128 16,307 20,058 A3,751

S= 28 90,1603 x2H«34A| 2t+128 7,475 3,626 3,849

204 AR HH| 26,400 24,840 1,560
02 252 Xl 26,400 24,840 1,560
Oz 2=t 26,400 24,840 1,560

°6= 2 & 175,000& «3H 128 6,300 3,960 2,340

S Z & 165,000 «3H »12& 5,940 7,440 A 1,500
=8=~9= 2 & 155,000& ~6H 128 11,160 10,440 720




